ΜΑΘΗΜΑΤΙΚΑ   9/4/20
Λύνω όπως το παράδειγμα:
28=   2Δ+8Μ     	10+10+8
43=…………………………………………………………………………………………………………………….
52=…………………………………………………………………………………………………………………….
24=…………………………………………………………………………………………………………………….
31=…………………………………………………………………………………………………………………….
16=…………………………………………………………………………………………………………………….
42=…………………………………………………………………………………………………………………….
29=…………………………………………………………………………………………………………………….
33=…………………………………………………………………………………………………………………….

	25-5=20
	44-4=

	24-4=
	23-3=

	18-8=
	36-6=

	31-1=
	57-7=

	16-6=
	18-8=



Συμπληρώνω τον αριθμό ο οποίος είναι ανάμεσα:
39   40   41
19   ….   21
49   ….   51
32   ….   34
29   ….   31
49   ….   51
9   ….    11
ΧΡΕΛΙΑ ΑΝΔΡΕΑΝΑ
